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Question 1

@©5LOMEgo 29635 FHJOS: 0YSIXMMO 5060 G)HMYds S0, BMIwol JmeH3Egdo
39b0bogds, MHMymO3 bogmogMo {gm@EHowgdo, GMmIgums dm®ol MODogHmddgogds

Select one:

a. 95Jb0ds>E M0, oxsbgdol dmdgbEOL oM

b. 85JuodseGos

C. d0bodseMos

d. 990gd9@yYma0eos, oxHYdOL dmdgbEOL gsM©s

g;li:vt)z:é@gﬁ)o 3691 098065303760 $H9339M5¢IO0L Fodmbomgege
BMOIMWSTO T= %Hf, 5 LOEOWYS W

Select one:

a. Bsfomszgdol 35s@ebomo 3mdmsmdols bsdumsme 3069603960 9BgGa0s
b. Bsfomszgdol 3s@s@ebomo 3cmdmsmdols 9Bgtha0s

C. Bsfoes3gdol 3edmsmdols Lsdrsmem gbg6Ha0s

d. Bsfoszgdol Gbgzomo dmd®msmdol 3069E03m60 9bgMyos

Question 3
603009980l Bslss G0l 11, mwwGo dsls - M, s3mas0Gml Gogbgo - ﬁ'A,
603009090580 99853500 5GH™AGOOL (dmerg3mgdol) Moabzo GHmeos:
Select one:
T AT

a. J.FH! —ﬁj\!A
b. N=mM N4

T—M a1
J.E! —HE‘!A

N="a)

Co

d.

Question 4
6900L30gMH0 0YSMOO 506l 1 dmro bogmogMgds, ghmbso®o bgzoL s
$9939M5@HMMHoL 30639030, 035390l

Select one:

a. bbgoslbgs dmEyanmdsly

b. 3mgmwmdol dobodwdl

C. 9O®LS S 00539 FMEYCMO

d. 8mEmmdol Bsbggzo®l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=/frac%7b2%7d%7b3k%7d/bar%20W
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/bar%20W
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N_A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bN%7d%7b=%7d%7b/frac%20%7bm%7d%7bM%7d%7d%7bN_A%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bN%7d%7b=%7d%7bmM%7bN_A%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bN%7d%7b=%7d%7b/frac%20%7bM%7d%7bm%7d%7d%7bN_A%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bN%7d%7b=%7d%7b/frac%20%7bN_A%7d%7bm%7d%7d%7bM%7d
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Question )
398050000 ) 3o60: “Bmg399©-3069¢03900 MIMOHOOL 9OHM-9OHMO
90 g00L Mbsbds Lbgyerols 998596900 bsfoes3900L IMIMIMdS SO

Amfgb®ogd9o s 9HMO 3360339990 J0BSMMYEGBOM .
Select one:
True

False

Question 6

3990500@00 ) 33oM0: “BmEg39H-30693 0300 MIMOHOOL gMm-9HMO
©90900L Mbsbds Bbgol 99850969 bsfos3zgdl dmMol dmddggdl
80%0@30Ls s 336BoE3Z0L doErgdo".

Select one:
True

False

Question 7

39950B0go M 9sLoL 0EYI OO 50MOL IEYMISGHIMBOL Fobolloomgdgwo 3 35MsdgEHMOL
IODMIWOMBY:

Select one:

a. @ oBgo6gds, T sdbmeEMGo G9d3gMe@es, P {i6g3s
b. P 6935, V 8mgugemmds, T sdlmema@m®o ¢gd3g®sdsn®s
C. V 9mgnmemmds, P {693, a 9Bo®gds

d. U vordotrg, G sBgscrgds, P §630

Question 8
3956009 30H03MMHO LOWOWIJ00, HOMSE bolosmMEYds T JSLOL 0WISIHO SOMOL
9aMB5m9Mds (dmbodbgm 3 3sbybo):

Select one or more:
a. 9365 MdS

b. dmgmwmds

c. {ibg3s

d. $9939®oBHmes

€. bobdomg

f. Lod33Mogzg

Question 9
1 90 00GoEMGHO 50MOL BobolosmMYdYE 35MdgBHMIOL (§6935, dmEMEwmds,
A993905¢ M) JmMob 3538060 2o60LsBOZMYds Jobmbom :

Select one:

r

. ﬁ=ﬂﬂﬂ5t


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7b/vec%7ba%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7b/vec%7ba%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7b/vec%7bv%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7b/vec%7ba%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac%7bP%7d%7bTV%7d%7b=%7d%7bconst%7d
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Question 10

3956009 0009oMO 506093030l 0BM3MM(3gLgdOL Tgbodsdolo LIbYWgdgdo:

'[f:fjgnstAnswer 1| Choose... j

P=const answer 2| coose- ~|

T=const pnswer 3 =~

Question 11

65996% 96" 89033190 0©JSEMMO S0MHOL IMEMEMdS, 0¥) oL 3H9a39MoGIOL
29530M0m Lodx I (3HMEgLO 0BMBIYO0S):

Select one:

a. Lodx 9O A50BOYOS
b. m&x96 89930090
C. Lodx g6 99930090

d. @OHx9g6 350BOEYds

Question 12
QLOMEg 296G Egds:
00 LoBdoM9gl, OMIoMSE ddEsz0 IME93w9gdol MoEb3o YOEILos, 9fmEIds ----

Select one:

a. LodwsEm Lokdstg

b. Lsdumsamm 3350GOGMo LoBJstg
C. 3350005&o LobdsMq

d. ¢o@dsmglio LoRdsey

Question 13
5060l 8mEg3Esms dndGsmdOL MsEdsmgbo boBsmy Um Bawos (K s6ob
dmME 305608 dM@d0gs):

Select one:
v — 26T

a. “m T

b. Um = V kT
?'I — E

c. ™ T
T Y &
=T

d.


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac%7bPV%7d%7bT%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac%7bT%7d%7bP%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac%7bV%7d%7bTP%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bV%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bP%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bT%7d%7b=%7d%7bconst%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=k
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bv_m%7d=%7b/frac%7b2kT%7d%7bm%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bv_m%7d=%7b/sqrt%7bkT%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bv_m%7d=%7b/sqrt%7b/frac%7b3k%7d%7bT%7d%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bv_m%7d=%7b/sqrt%7b/frac%7b2kT%7d%7bm%7d%7d%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7bv_m%7d=%7b/sqrt%7b/frac%7bk%7d%7bT%7d%7d%7d
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Question 14
1 3000 0©JoHO 5060l Jobsgsto 9BgMa0s 39dmolsbgds BmGIMwom (I sGols
39390l 193053 9doL bodolbo, R - 50600 16039OLsMEO 39©B03s):

Select one:

[ o

=~

|
Lo,
(o]

(@]

|
| e B e
B Egi ~

Question 15

0@95M0 506MH0L J0bsasbo 9bgMa0s ©sdM30 YO0, :
Select one:

a. 5060l Img3Mol BmIgdbg

b. 5060l dmwy3m@gdl Gmnmol ds6dow by

C. 5060l Im9329egd0l BmIgdbg s 350> JmMol Jsbdow by

d. 5060L 235MHMBIBY S 50MOL 39839 MESDY

Question 16

11 dsLiob dJmby gﬁ)o?o@mao.SBO 5060L J0bss60 9bgMo0l godmdlobggwn
RMEOHIMESd0 U= é.iﬂ_f ; 65 LOEOWYS R:

Select one:

a. 5060l ©BoggELsMGO B0z

b. 5060l dmewmEo dsbs

C. 5060l mngrenmds

d. 5060L dmErg3mol MoEolo

Question 17

09030659030l 3003900 356Mmbo 2odmoliobgds BmGIMw o (dQ 560l LobGgdaby
39053990 MBsliGrmEm© d306M9 LoMdM, dA - LobG9gdob dogH FglcrmegdIEo
MBsbGMEMmE 30609 3MFomds, U - LoLEYIOL Bobsgsbo 969GMa0s):

Select one:

. Q=7

b, dQ = %

. d@) =dU +dA
q. dQ =dU -dA
Question 18

L0MBMYSO(3905 FoMTMOYIBL B03OMI3MM(3gLYdOL GONMOWOMILL, MMIWIO03
0139396 96900l gos(3995L gMmMo LbgmErosb dgmMgbg. LoMdMASoEYTs
bm®E0gw©gds (dmbodbgom 3 3sbvgbo):


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=i
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=i/frac%7b3%7d%7b2%7d%20/frac%7bT%7d%7bR%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=/frac%7bi%7d%7b2%7dT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=/frac%7bi%7d%7b2%7dRT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=/frac%7bi%7d%7b2%7d%20/frac%7bR%7d%7bT%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=/frac%7b3%7d%7b2%7d/frac%7bm%7d%7b/mu%7dRT%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ=/frac%7bdA%7d%7bdU%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ=/frac%7bdU%7d%7bdA%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ=dU+dA
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dQ=dU%20/cdot%20dA
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Select one or more:
a. 359mbboggdom

b. LoMBdIMYSIEBH>OMBOM
C. 3mbggdisoom

d. 8mdcsmdom

€. 3OISPYO0LIOOM

Question 19
5060L dogM gl gdIeo LMY 3MFomds, dMEIMOOL Vi 360036903056 Va

96003690Md5d@g 99LS(33W IS, GHME0S:

Select one: v
— Y2 dV
a. A= f‘r"l P
by, A= [pdV
_ [ dV
C. A= f p

A= [y

Question 20
096306580316 3MM3gLL 9Hmgds 939390, 0vY:

Select one:

a. dgbodEgdgeos LobBHdol BG4S LYol BEAMISMIMBsT0, 5M9dmABo Ms0dg (33CP0WGOOL d5M9dg
b. 89990 gdgwos Lol BB Lafiyol dyMBsMgMdTo

C. 99lsdangdgeros LobEgdol sdMmBYds Lsfgol dyMTsMgmdsdo

d. 89L50gdgE0s LobEBHgaol @dMNBYVS Lfyol dyMBsMGMdIT0, F5MIIMTo M09 33CPOGBOM

Question 21

03m39m 506M0L Lafiyolo #H9a3gea@wms, vy dobo dmEmEmds 170
39306000 4500MdOLSL ooBsMEs 1.6-%9M, 3OrM3EILO 0BMBIGVIE0S.
(3980 Bsfiggom dbmerm Mogbzo 9gobgol LobLGHom. doy: 1.23)

Answer:|

Question 22

296LobW3MgM Fyodool (M = 0.002 33/0me0) dmerg3ogeols
15d5m9L0 Lobdodg V, 340K #9d39Mo@@sbg. R=8.31 x.aMo@/dm
(3980 Bsfiggom dbmerm@ Hogbzo 99oLgol LoBMLEHOM. BoydW0MS©
1.23)

Answer:|

Question 23


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int%20_%7bV_1%7d%5e%7bV_2%7d%20/frac%7bdV%7d%7bp%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int%20pdV
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int%20/frac%7bdV%7d%7bp%7d
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=/int%20_%7bV_1%7d%5e%7bV_2%7d%20pdV

030390 9OMSGHMB0560 0EYIMBHO 50M0L FH933gMoEMcS (39w3069030), 0wy dobo
29005356000 IMIMsMBOL LsFdsE™ 3069303MM0 969MR00L Loowgs 426K, Losg k
5oL B3 3dsbol dmdogs (3gwdo Bsfiggom dbmeme Mogbgo, dop. 1,23):

Answer:l

Question 24

03390 9OMGHMI0560 0©JoMMO 50M0L Fgd3gModw®s (C°), mvy dolo gows@sbomo
mAG50md0b Lodmowm 30693037M0 96gMHR00L Loowgs 447K, Losg K sGob

dm 305606 dMdogs (39do BofigMgo dbmemeo Goibgo, dsy. 1,23):

Answer:l

Question 25

0.2 33 9s5Lob 4obryenol 65390 ™o me  5&IMbggHE 6935b0 s 0°C-
B9 290©b9L. 4yobmol bmdOL 3Mm®o Lomdms 335000x%/3y. BB YOOl

96¢®™300L 330w gds. (3980 BsfigMgom dbmermo Mogbgo dgobgol
LoBMLEGHOM. og. 1.23).

Answer:l



